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�4D4=F<O: 
�4D4=F<O D4E?D>EFD4=O5FEO =4 6E5 6<4O 
?D><76>4EF65==OE 45D5>F>6 < <4F5D<4?>6 ED>>>< =4 1 
(>4<=) 7>44 E 44FO ?>>G?><.  
�4D4=F<==O= ED>> =4 M?5>FD>4 3 6 <5EOF56 E 44FO 
?>>G?><.  
�4D4=F<==O5 E?GG4< =5 D4E?D>EFD4=ONFEO =4 E?GG4< 
?>?><>> < =5<E?D46=>EF5= 6 D57G?LF4F5 
=5=44?564M57> <E?>?L7>64=<O. 
�����: �O >EF46?O5< 74 E>5>= ?D46> <7<5=OFL < 
<>4<D<F<D>64FL 4<74==, >>=EFDG>F<N < 
E4D4>F5D<EF<>< =4L5= ?D>4G>F<< 557 
?D5464D<F5?L=>7> G654><?5=<O.  
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�$�������� ����$����: 
 

" �D<5>D ?>EF46?O5FEO 6 >><??5>F5 E 

54F4D5=>>= 9V. �F>D>=F5 >FE5> 4?O 

54F4D55> =4 744=5= G4EF< >>D?GE4 

?D<5>D4 < GEF4=>6<F5 54F4D5=>G. 
 

" %=<<<F5 74M<F=O= >>??4G>> E  

M?5>FD>44 ?5D54 ?D>6545=<5< 

<7<5D5=<=. �E?< M?5>FD>4 6OE>E, F> 

4?O 57> 4>F<6<D>64=<O G4EFL M?5>FD>44 

D47<5D>< 2,5 E< =5>5E>4<<> 74<>G<FL 

=4 =5E>>?L>> <<=GF 6 ?D><O6>G=>= 

6<4>>EF< (M10000B). 
 
"   �>4E>54<=<F5 pH < 

F5<?5D4FGD=O= 

M?5>FD>4O > D47N5<4< 6 

65DE=5= G4EF< F5EF5D4. 

&5<?5D4FGD=O= 

M?5>FD>4 <>65F 

<E?>?L7>64FLEO 

>F45?L=>. 
 

"   �>?NG<F5 ?D<5>D    

>=>?>>= ON/OFF.         
 

" '554<F5EL 6 F><, GF> ?D<5>D 

>4?<5D>64= ?5D54 ?D>6545=<5< 

<7<5D5=<= (E<. �����$����). 
 

"   �?GEF<F5  pH < F5<?5D4FGD=O= 

M?5>FD>44 =4 7?G5<=G  2.5 E< 6 

6<4>>EFL, E?57>4 ?><5L<64O. 

$57G?LF4F <7<5D5=<O pH 

>F>5D47<FEO =4 4<E??55.  

    �?O >F>5D465=<O F5<?5D4FGDO  

    =46<<F5 < G45D6<64=F5 >=>?>G ºC. 

�?O D<>E4F<< <7<5D5=<O =4 

4<E??55 =46<<F5 >=>?>G HOLD. 
 
" �>E?5 >>>=G4=<O <7<5D5=<= 

6O>?NG<F5 ?D<5>D < ED4=<F5 

M?5>FD>4 E =5E>>?L><<< >4??O<< 

D4EF6>D4 4?O ED4=5=<O (MA9015) 6 

74M<F=>< >>??4G>5. 

 

%>>5M5=<5 >5 >L<5>4E =4 4<E??55: 

" �<745F 7=4G5=<5: ?>>474=<O 6=5 

4<4?47>=4 F5EF5D4; 

" "Eb": E?45O= 74DO4 54F4D5=><; 

" "�E": =5?D46<?L=O= 5GD5D=O= 

>4?<5D>6>G=O= D4EF6>D; 

" "CLR": >4?<5D>6>4 E5<?4EL. 

&D55G5FEO >4?<5D>6>4. 

�4?<5D>6>4: 

A) �>47>F>6>4: 

�5>5E>4<<> ?D<7>F>6<FL 464 

>4?<5D>6>G=OE 5GD5D=OE 
D4EF6>D4: pH7.01 (MA9007) < 
pH4.01 (MA9004), 5E?< <7<5D5=<O 
?D><76>4OFEO 6 4<4?47>=5 ><E?>= 
ED54O (pH0-pH7) <?< pH10.01 

(MA9010), 5E?< <7<5D5=<O 
?D><76>4OFEO 6 4<4?47>=5 
M5?>G=>= ED54O (pH7-pH14). 

�E?>?L7G=F5 ?> 465 5<>>EF< 4?O 

>464>7> <7 46GE >4?<5D>6>G=>7> 
D4EF6>D4. �4<= 4?O ?D><O6>< 
M?5>FD>44, 6F>D>=  4?O >4?<5D>6><. 
&4><< >5D47><, 747DO7=5=<5 <564G 
D4EF6>D4<< 6> 6D5<O >4?<5D>6>< 
5G4GF E6545=O > <<=<<G<G. 

B) �D>F5EE: 
" %=<<<F5 74M<F=O= 

>>??4G>> E M?5>FD>44. 

�D><>=F5 M?5>FD>4 

5GD5D=O< D4EF6>D>< 

pH7.01, 74F5< >?GEF<F5 pH 

< F5<?5D4FGD=O= M?5>FD>4 

6 pH7.01. 

" �46<<F5 >=>?>G CAL 4?O 

6E>44 6 D56<< 

>4?<5D>6><.  

     �<E??5= >F>5D47<F 

<<74NM<= E<<6>? 

"pH7.01" < ?5E>G=O5 G4EO 

" �>4>64<F5, ?>>4 =4 4<E??55 

<EG57=5F E<<6>? 

?5E>G=OE G4E>6, 4 "pH" 

?5D5EF4=5F <<74FL. 

�46<<F5 >=>?>G CFM 4?O 

?>4F65D645=<O.  

�D<<5G4=<5: �>6F>D=>5 

=464F<5 >=>?>< CAL 

?>76>?O5F <7<5=<FL 

7=4G5=<5 >4?<5D>6>G=>7> 

D4EF6>D4 4?O >4?<5D>6>5 

?> >4=>= F>G>5 (=4?D<<5D, 

D�4,01 <?< D�10,01). 

  

 

�D>4>?65=<5 >4?<5D>6><:



 

&��� 
 

���'���� pH 

°C °F MA9004 MA9007 MA9010 

0 32 4.01 7.13 10.32 

5 41 4.00 7.10 10.24 

10 50 4.00 7.07 10.18 

15 59 4.00 7.04 10.12 

20 68 4.00 7.03 10.06 

25 77 4.01 7.01 10.01 

30 86 4.02 7.00 9.96 

35 95 4.03 6.99 9.92 

40 104 4.04 6.98 9.85 

45 113 4.05 6.98 9.85 

50 122 4.06 6.98 9.82 

55 131 4.07 6.98 9.79 

60 140 4.09 6.98 9.77 

65 149 4.11 6.99 9.76 

70 158 4.12 6.99 9.75 

" �>E?5 7465DL5=<O >4?<5D>6>< ?> 

pH7.01 =4 4<E??55 5G45F <<74FL pH4.01.

������ ��&�$���: 
 

�4<5=<F5 54F4D5=><    

�>E?5 ?>O6?5=<O    

E<7=4?4 =4 4<E??55 

&5E=<G5E><5 

E4D4>F5D<EF<><: 

 
 
 

" �46<<F5 >?46<LG CAL 4?O 

>F>5D465=<O D�10,01 (?D< 65?4=<< 

<7<5=<FL F>G>G >4?<5D>6><). 

 

" �D><>=F5 M?5>FD>4 5GD5D=O< 

D4EF6>D><, 74F5< >?GEF<F5 

pH < F5<?5D4FGD=O= 

M?5>FD>4 6 >4?<5D>6>G=O= 

D4EF6>D. 

 
 
&����&� 71: 

< =. 

�>E?5 ?>O6?5=<O 

MF>7> E<7=4?4 ED>> 
E?G65O M?5<5=F>6 
?<F4=<O 6E57> 
=5E>>?L>> G4E>6. 
�<7><= GD>65=L 
M?5<5=F>6 ?<F4=<O 
<>65F EF4FL 
?D<G<=>= =5 

F>G=OE <7<5D5=<=. 

 

�D><76>4<F5 74<5=G M?5<5=F>6 

?<F4=<O 6 557>?4E=OE GE?>6<OE. 

�O>?NG<F5 ?D<5>D, >F>D>=F5 >FE5> 

?<F4=<O =4 744=5= >DOL>5 < 

74<5=<F5 54F4D5=>G 9V. '554<F5EL 6 

=4456=>EF< >>=F4>F>6.

�<4?47>=             -2.00 4> 16.00 pH    

                        >F -5 4> 70ºC 

&5=4 45?5=<O    0.01 pH 

&>G=>EFL (@25°C)   ±0.02  pH 

&5<?5D4FGD=4O            46F><4F<G5E>4O 

�><?5=E4F<O                 0 4> 70ºC 

�4?<5D>6>4  46F><4F<G5E>4O ?> 2-< F>G>4< 

pH M?5>FD>4                 SE220 (6 >><??5>F5) 
&5<?5D4FGD=O= M?5>FD>4 MA830R 

�D<<5=5=<5          0 4> 50°C, 95% RH max.  

&<? ?<F4=<O    1x9V alkaline (6 >><??5>F5) 

%D>> E?G65O 54F4D5=>< ?D<<. 70 G4E>6 

$47<5DO  143 x 80 x 32 <<     

�5E 220 7D4<<  
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MA 9004 pH4.01  5GD5D=O=     
                         >4?<5D>6>G=O=   
                         D4EF6>D, 220 <? 

MA 9007 pH7.01  5GD5D=O=     
                         >4?<5D>6>G=O=   
                         D4EF6>D, 220 <? 
MA 9010 pH10.01  5GD5D=O=     
                         >4?<5D>6>G=O=   
                         D4EF6>D, 220 <? 

MA 9015 $4EF6>D 4?O ED4=5=<O                              

                               M?5>FD>44, 220 <? 

MA 9016 �>NM<= D4EF6>D,       

                              220 <? 

M10000B �D><O6>G=4O  

                         6<4>>EFL,  20  <? 

(25 LF. 6 >>D>5>5) 

MA 920B/1 pH  M?5>FD>4 E   

                          BNC >>==5>F>D>< <    

                          ?D>6>4>< 1 <5FD   

MA830R &5<?5D4FGD=O= 

M?5>FD>4. 
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